=107 =107
g 2
= 8
o °
B/ e}
1072
1072 :
O 1.0
IS
@
1
5 :
107 1 10 0? - 10°
TP, (PCA t% beamling
[—=— DQM VUUUI_RUUUUUU0UT _Global__CMSSW__RECO
—— DQM_V0001_R000000001__Global__mkFitOriginal__ RECO
—— DQM_V0001_R000000001__Global_mkFitNew__RECO
—— DOM V0001 _R000000001__Global__mkFitNew05__RECO
= 1] | :
2 e :
X > T
o =) T
2 5 :
3 107}
107
2 L o *
A ECERPRRREY FPRE 4 B = : :
@ [ - : : X 1 bl
[ A1 T 7 ﬁi-e:’
N ﬂ 11 ) R S osf 5 “F'l"" e
10 1 10 02 . 10° 10 1 10 02 _10°
TPp, (PCA t]b beamline TPp, (PCA t]b beamline
~ 1
o
-
o
o
5

107

Ratio

0.6 : 93




	Contents
	Page 1


